2HE

2|

-
[ =)

(o]

1 Rl
=

=)
=1

k21 2

o

!

/|

=

7t

=

I[AF, 2020 23 YK F

(O

y
(@)
TH

OH

A=lolct,

ol 4ol

Al

on

Br
oF

I
B
X0
oJ
ol

ujo

HM Z4= 108 302 13A17HA|0|H, MFX

(]
o
=

4| 0] 2| (https://koscom.saramin.co.kr)

=
[==]

HE

=

—_
)

AtME LHE2 2L

F

—

(<)

o Folct.
Of| C
FOf|HOICY

=

F

o

3

(<)

2

| A}
Ao
=

ok

A 12
0 Ot2e ZELH9

Ryl


https://newsroom.koscom.co.kr/24198

/

=
n
r~
¥
-
V=
!l_"
B =3
- l-
]
e
13
I
=
T
3 )



http://newsroom.koscom.co.kr/wp-content/uploads/2020/10/koscom-office-03.jpg

